H & 0l & AHS B Ml A

A skt
M Btli=ds
tel: 2u=sXd |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St 18,250,592 16,997,243 1,253,349
= 1,004,224
Jl 253,162
= 5,067,320
Ea 11,935,886
Estol=ds 1,196,320 968,350 227,970
= 16,425
) 241,962
= 92,120
= 845,813
Ztol=XE =4 1,106,320 968,350 137,970
= 16,425
Jl 241,962
S 92,120
o 755,813
230 243t 36,300 53,500 17,200
201 fer= 3| 12,800 41,000 N\28,200
01 At 2|l 12,800 41,000 28,200
oZ30=LA EES MH S
100, 000& »602] 6,000
cE=L R S
8,000 x5 » 170! 6,800
202 04t 9,000 8,000 1,000
01 =LHOHI 9,000 8,000 1,000
o233z Mgt g2 =3
20,0003 x5 90! 9,000
203 =] 4,500 4,500
03 A=A 2= 4,500 4,500
oZ3AIUR =M
1,125,000& x4=2 7| 4,500
307 elztol & 10,000 10,000
03 2N EE2SHIEx 10,000 10,000
odggae@a 2dt N NZSS)
10,000,000 *12] 10,000
gddEsE K& 267,680 208,400 59,280
== 32,700
o 234,980
307 212+01& 267,680 208,400 59,280
< 32,700
= 234,980
02 LB HAHE L 177,680 128,400 49,280
oFetstu 24
60,0003 *2A| 2++485|*33] 17,280
o ANHESHI 45,000,000 45,000
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A skt
M Btli=ds
el EtollzskE =4 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cxg R SN N (ZHIREE
) 20,000,000& x13] 20,000
<J|20I=83l 3HH
5,000,000& *12] 5,000
o2083 EE0IdNLY
5,000,000& 12 5,000
o203 AlstE 6,000,000& *12] 6,000
o=0lgs H4E=28=A
8,000,000& *12 8,000
olfedSHs2Es d==A2FHU3
15,000,000 *12] 15,000
o0l=g3 &3d 5,000,000& 12} 5,000
oll=g3 gogd 5,000,000&*12] 5,000
oHHBD 9 LHSHSLA
3,500,000& %12 3,500
CHRBRTS| SASHEA
3,500,000& *12l 3,500
OHAZNERTS RIREGA
3,000,000& %12 3,000
oS%Es Zels%sl
3,000,000 *43 12,000
oYUM BH2HATS
10,000,000 * 12l 10,000
HE=3tlAL K& 100,000 78,000 22,000
= 20,000
o 80,000
307 el2to| & 100,000 78,000 22,000
= 20,000
o 80,000
04 QIZHHAMAIH 2 £ 100,000 78,000 22,000
c¥dgsSsUEd s8N
40,000,000& %12 40,000
< 20,000
[Ea 20,000
oddgu AN 6,500,000 <22} 13,000
oYW NN HNSE3eA
500,0002 %152 7,500
oddgu JZH 5,000,000& 12 5,000
SEWAISAHE R AS23tHAL
30,000,000& *13] 30,000
olt= HAISEEAL N3
1,500,000 374 2 4,500
Stol=2Z A X3 32,850 32,850 0
= 16,425
s 16,425
307 212+01& 32,850 32,850 0
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M Btli=ds
tel: 2u=sXd |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 16,425
s 16,425
02 2IZHB A E £ 32,850 32,850 0
o= AZ0F Ol=2At AIZAE
32,850,000& 32,850
= 16,425
Ea 16,425
dgei=t=sH &0t 14,000 14,000 0
== 4,000
o 10,000
307 212+01& 14,000 14,000 0
< 4,000
= 10,000
04 QIZHHAMAIRH 2 X 14,000 14,000 0
oMLK M==H &It
14,000,000 * 13} 14,000
= 4,000
Ea 10,000
SE =202 A 343,090 283,900 59,190
Il 241,962
= 28,820
[Ea 72,308
307 el2to| & 343,090 283,900 59,190
Jl 241,962
= 28,820
= 72,308
05 2ItRIE S 343,090 283,900 59,190
o2023H SE=30ISHAIY
110,00024+3, 119 343,090
) 241,962
< 28,820
s 72,308
felsul Ols2t 2tel 14,400 14,700 A300
201 er2 3| 14,400 13,700 700
01 AtR2telHl 2,000 1,500 500
oMAIEA EE2E I M S
200,000 %102 2,000
02 S3=2g4l 12,400 12,200 200
ofelsUl Oledt HlIes S
450,000 123 5,400
o2c|sUl Ols&t AIERA
5,000,000& *14] 5,000
oSl Ol=2 AREx B9
2,000,000& %12 2,000

_240_




SN 2SR
M Btli=ds
tel: 2u=sXd |4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SE =& X¥ 22,000 0 22,000
= 6,600
= 15,400
307 el2to| & 22,000 0 22,000
= 6,600
[Ea 15,400
02 QIZtEHAEE X 22,000 0 22,000
SS= ARDIZE 2N
22,000,000 %11 £ 22,000
== 6.600
[Ea 15,400
g 222N (O0ra) L8 90,000 0 90,000
e Bat22Me(OrE) £ 90,000 0 90,000
207 ARl 90,000 0 90,000
01 H1E4H] 90,000 0 90,000
ody EaAZ M £ JIZAE & BHE
d 89 0,000,000 %14 90,000
EotRa 2& 2 ds 4,534,350 4,956,530 N422,180
= 861,799
Il 11,200
= 1,505,120
= 2,156,231
dS23 A 28 2 2l 3,530,320 2,822,530 707,790
= 160,150
Jl 11,200
=S 1,385,000
s 1,973,970
LEHIHM EE 85 16,400 16,400 0
== 8,200
[Ea 8,200
301 22N = 14,400 14,400 0
< 7,200
= 7,200
14 IIEt2 8= 14,400 14,400 0
oRHEs 2R dsKES
1,000,000 x1&* 12 12,000
= 6,000
Ea 6,000
oREE e Sl MsAES
100,000 x2& * 12 2,400
< 1,200
[Ea 1,200
307 lztol & 2,000 2,000 0
= 1,000
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M 2sgM BE Y @S
thel: MES2st It 28 & 22| (CH9: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
i 1,000
04 QIZHHAIAIE E X 2,000 2,000 0
CRHEET THHAKI A
2,000,000&*13| 2,000
= 1,000
= 1,000
SNME 2 SSAY 90,000 87,500 2,500
= 36,000
= 10,800
= 43,200
307 QIZt01 A 90,000 87,500 2,500
= 36,000
& 10,800
i 43,200
02 QIZHA A AL E X 90,000 87,500 2,500
oFE - ZO - 2| 0t ML= AHIEH
90,000,000 * 14 90,000
= 36,000
& 10,800
i 43,200
HSALAL 23T S EAY 52,500 0 52,500
= 21,000
i 31,500
307 2I2+01A 52,500 0 52,500
= 21,000
= 31,500
02 QIZtAAAIEER 52,500 0 52,500
SWSIELD WO LT
52,500,000 14! 52,500
= 21,000
i 31,500
MM 2o EEAY 50,000 52,500 A2,500
= 20,000
& 6,000
i 24,000
307 QI2Hol ™ 50,000 52,500 A2,500
= 20,000
& 6,000
= 24,000
02 QIZHAAAIE E R 50,000 52,500 A2,500
oots d= gs4det Fo7el
50,000,000& * 14! 50,000
= 20,000
& 6,000
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M 2RM BE L @B
Hel: MS2s A 28 2 2l (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 24,000
Olch S =atma &=, SEAE 16,800 0 16,800
= 8,400
[Ea 8,400
307 212+01& 16,800 0 16,800
= 8,400
s 8,400
02 2IZHBHAIHE £ 16,800 0 16,800
oHIHIRA B2 M@ HEeld
16,800,000 » 14 16,800
= 8,400
Ea 8,400
NAHRE 23 S A 88,500 105,000 16,500
= 44,250
o 44,250
201 2= 88,500 105,000 16,500
= 44,250
= 44,250
03 Ar=EHI 88,500 105,000 16,500
SHARL HENE 28 Z2 Y
88,500,000 » 14 88,500
= 44,250
Ea 44,250
?‘H?ﬂv@r& LN HHI25 MAS SEAL(HEA 2,600,000 2,000,000 600,000
< 1,300,000
[Ea 1,300,000
401 Al HIZL S 0HYI 2,600,000 2,000,000 600,000
& 1,300,000
= 1,300,000
01 Al&H| 2,540,000 1,995,000 545,000
oNARL HENE HHIES SEAE
2,540,000,000& 2,540,000
= 1,270,000
Ea 1,270,000
02 Zeltl 60,000 0 60,000
oMARA HAMR HHIZ3 SEAY &
cltl 60,000,000 60,000
< 30,000
= 30,000
MASAH(EAME) SEEE2L 122,400 122,400 0
= 60,000
Ea 62,400
201 eer23y| 122,400 122,400 0
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A skt
M 2RM BE L @B
Hel: MS2s A 28 2 2l (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o2 L FHALS AL
20,000,000& » 14 20,000
401 AIZHIX R0 315,000 265,000 50,000
01 AlZH| 310,000 265,000 45,000
o X2 24 AAIZ AL
2,500,008 1021 25,000
o2}, SNHLE A4H
25,000,000& »321 75,000
CHESSRA 24T
30,000, 000& 724 210,000
02 Zeltl 5,000 0 5,000
o2 A%d 2A2IH|
5,000,000& *1A 5,000
NS 2 28 1,004,030 2,134,000 1,129,970
= 701,649
=S 120,120
s 182,261
FIESET 2 SEREY =H2b] NS (HoAk 590,000 0 590,000
ZO0IEtO i 2Het =8 St A, Saete, &8 d oF
}\IIH)
= 413,000
= 70,800
o 106,200
401 Al HIZ S 0HbI 25,000 0 25,000
= 17,500
= 3,000
o 4,500
02 Zeltl 23,000 0 23,000
oA SAOMOIEIO Bt =8 2l N
Sotg, €88 HF A 2l
23,000,000 * 14 23,000
= 16,100
= 2,760
= 4,140
03 AIZ 2 THYI 2,000 0 2,000
oA SAOM0IEIO i BHat =8 2l N
Sog, g8 HF A
2,000,000 %14 2,000
= 1,400
= 240
= 360
402 2IZtA=01d 565,000 0 565,000
= 395,500
= 67,800
= 101,700
02 QI X2 AL EE(OIETHE) 565,000 0 565,000
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60,000
20,000
20,000
20,000

90,000
90,000

10,800
60,000
60,000
42,000

7,200
10,800
20,000
14,000

2,400

3,600
20,000
14,000

2,400

3,600
20,000
20,000
14,000

2,400

3,600
90,000
10,800
16,200
90,000
63,000
10,800
16,200

63,000
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 90,000 90,000 0
oA HITILIR = MFatZ e
90,000,000& » 14 90,000
= 63,000
< 10,800
= 16,200
DINE2sW % S=2T SaEH| U (HUAS 30,000 30,000 0
HIZILIR = |X=t2l)
= 21,000
& 3,600
= 5,400
401 Al HIZL 201 30,000 30,000 0
= 21,000
< 3,600
[Ea 5,400
01 Al&HI 30,000 30,000 0
o WHOkAL HIXILIR = [XI2el
30,000,000& *124 30,000
= 21,000
== 3,600
[Ea 5,400
DINT2sW L S=25T 24EH| U (H2UAS 12,000 12,000 0
D=0 |22l )
= 8,400
& 1,440
Ea 2,160
401 Al HIZL S 0HYI 12,000 12,000 0
= 8,400
s 1,440
s 2,160
01 AlZ8| 12,000 12,000 0
oA NE0 RAI2el
12,000,000 * 14| 12,000
= 8,400
=S 1,440
s 2,160
2INE 2N & SSESHH 234 N2 (BLAH 90,000 0 90,000
ALIS HEN SR L AXBI, +BHL, (IEE)
= 63,000
s 10,800
s 16,200
401 AIEHIZ SR OHYI 90,000 0 90,000
= 63,000
= 10,800
o 16,200
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A skt
M 2sgM BE U ML
el g 2t 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 20,000 20,000 0
CHEMHL KE Y FoiTY|
20,000,000& x 14 20,000
= 14,000
S 2,400
= 3,600
2DVINEZ23 & SE23HM EFH X2 (U< 15,000 15,000 0
SR ol & FHEY)
= 10,500
& 1,800
= 2,700
401 Al HIZL 201 15,000 15,000 0
= 10,500
< 1,800
[Ea 2,700
01 Al&HI 15,000 15,000 0
o=cIBNRX M= & =AY
15,000,000 * 14| 15,000
= 10,500
== 1,800
[Ea 2,700
2VNE S & SS2SHMH EFH| XJA(SHe] 14,000 14,000 0
LEIUR RX2el)
= 9,800
[ 1,680
Ea 2,520
401 Al HIZL S 0HYI 14,000 14,000 0
= 9,800
s 1,680
s 2,520
01 AlZ8| 14,000 14,000 0
oHtde| “EILS sXl2c
14,000,000 * 14| 14,000
= 9,800
=S 1,680
s 2,520
S3H etLfe JH| 3,030 0 3,030
= 949
s 2,081
401 Al HIZL 01| 3,030 0 3,030
= 949
= 2,081
01 Al&H| 3,030 0 3,030
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A skt
M 2sgM BE U ML
el XNE 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
odd =M 2=2H) et ZH|
2,600,000 *14] 2,600
2 780
2 1,820
SAITXE 23T QT XIEHS JIRE
Xl 330,000& *14] 330
= e
[Ea 231
o=ZIHNE 23 SHHE NIEYS JHE X
Xl 100,000 %14 100
= 70
Ea 30
NS=H 2dat 1,614,400 739,040 875,360
S 50,000
= 1,564,400
KS=H 422 1,614,400 739,040 875,360
= 50,000
[Ea 1,564,400
SN [eges 124,400 129,040 N\4,640
201 eer23y| 62,400 63,840 1,440
01 AtR2t2|HI 62,400 63,840 1,440
CRHMDEHAAS B g
70,0002 x 182 *10= 12,600
SET MO BIISIAS BA Sg
00,0003 *7 & +23] 2,800
oDZ U BRI ELT 29
7,000,000 42| 28,000
SEHYT ET ANLBE 2
1,000,000 +62] 6,000
oZBA Fp EX ARE
8,000,000& *12] 8,000
o=NER 5,000,000& *12] 5,000
207 ARl 22,000 18,000 4,000
01 g S| 22,000 18,000 4,000
oG =M gt 89 22,000,000 *14] 22,000
401 AIEHIZ SR THYI 40,000 40,000
01 Al&HI 40,000 40,000
SHAE AlMEA U H|
20,000,000& »23] 40,000
KNE=M =8 1,490,000 610,000 880,000
= 50,000
o 1,440,000
201 er2 3| 190,000 30,000 160,000
= 50,000
o 140,000
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Set2rZ
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